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QUESTION 1

Which vSAN health check category displays information about vSAN object health? 

A. Online Health 

B. Data 

C. Limits 

D. Performance Service 

Correct Answer: B 

 

QUESTION 2

What are two ways to examine the storage policy compliance of a virtual machine? (Choose two.) 

A. 1. Browse to the virtual machine in the vSphere Web Client navigator. 

2. On the Summary tab, examine the value of the VM Storage Policy Compliance property under VM Storage Policies. 

B. 1. Browse to the virtual machine in the vSphere Web Client navigator. 

2. Right-click the virtual machine and select "Check storage policy compliance". 

C. 1. In the vSphere Web Client, navigate to the vSAN cluster. 

2.

 On the Storage tab, click vSAN and select Virtual Disks. 

3.

 Right-click on the virtual machine and select "Compliance status". 

D. 1. In the vSphere Web Client, navigate to the vSAN cluster. 

2.

 On the Monitor tab, click vSAN and select Virtual Objects. 

3.

 Select a virtual object. 

4.

 Examine the value in the Compliance Status property for the object. 

Correct Answer: AB 

https://docs.vmware.com/en/VMware-
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vSphere/6.5/com.vmware.vsphere.storage.doc/GUID-133B65D0CE10-45E7-BFA5-74CAD19E0DFD.html 

 

QUESTION 3

Consider the following vSAN cluster scenario: 

1.

 All hosts are members of the same cluster. 

2.

 All hosts are contributing storage capacity to the vSAN datastore. 

3.

 There is not vSAN Witness Host. 

4.

 All virtual machines are assigned a storage policy where Primary level of failures to tolerate = 1. 

What is the minimum number of physical hosts required to be a supported vSAN configuration? 

A. Five (5) 

B. Three (3) 

C. Two (2) 

D. Four (4) 

Correct Answer: B 

VMware vSAN Design and Sizing Guide 6.5. Page: 18 When not using a witness, there is a minimum requirement of 3
ESXi hosts in a vSAN cluster. This is the same for all versions. While vSAN fully supports 3-node configurations, they
can behave differently than configurations with 4 or greater nodes. In particular, in the event of a failure there is no way
for vSAN to rebuild components on another host in the cluster to tolerate another failure. Also with 3-node
configurations, vSAN does not have the ability to migrate all data from a node during maintenance. 

 

QUESTION 4

What is the maximum supported latency between the preferred and secondary sites in a vSAN stretched cluster
configuration? 

A. 5 milliseconds round trip time 

B. 10 milliseconds round trip time 

C. 2.5 milliseconds round trip time 

D. 200 milliseconds round trip time 
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Correct Answer: A 

References: http://www.yellow-bricks.com/2015/09/23/designing-a-virtual-san-stretched-cluster/ 

 

QUESTION 5

The following are the configuration details for a 10-node all-flash vSAN cluster: 

1.

 All hosts contain one vSAN disk group. 

2.

 Each disk group has 400GB for the cache tier and 1600GB for the capacity tier. 

A host in the cluster is placed into maintenance mode. The maintenance mode option selected is "Ensure data
accessibility from other hosts". 

How much is the vSAN datastore raw capacity reduced while the host is in maintenance mode? 

A. 1600GB 

B. 400GB 

C. 0GB 

D. 2000GB 

Correct Answer: A 

References: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.virtualsan.doc/GUID-73493C3C0DEC-419D-9E36-801B2839A5A5.html 

Latest 2VB-601 Dumps 2VB-601 PDF Dumps 2VB-601 VCE Dumps

Powered by TCPDF (www.tcpdf.org)

Latest 2VB-601 Dumps | 2VB-601 PDF Dumps | 2VB-601 VCE Dumps                                4 / 4

https://www.geekcert.com/2vb-601.html
https://www.geekcert.com/2vb-601.html
https://www.geekcert.com/2vb-601.html
http://www.tcpdf.org
https://www.geekcert.com/2vb-601.html
https://www.geekcert.com/2vb-601.html
https://www.geekcert.com/2vb-601.html

